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QUESTION 1

This question will ask you to provide missing option.

Which option is required to complete the program correctly?

A. CAMPLIB

B. FMTSEARCH
C. LIBREF

D. UTILLOC

Correct Answer: C

QUESTION 2

When reading a SAS data file, what does the NOBS=option on the SET statement represent?
A. A variable that represents the total number of observation in the output data set(s)

B. A variable that represents a flag indicating the end of the file

C. A variable that represents the total number of observations in the input data set(s)

D. A variable that represents the current observation number

Correct Answer: C
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QUESTION 3

Which one of the following SAS SORT procedure options eliminates identical consecutive observations?
A. NODUP

B. UNIQUE

C. DISTINCT

D. NODUPKEY

Correct Answer: A

QUESTION 4

Given the SAS data set WORK TRANSACT:

The following output is desired:

Which SQL statement was used?
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A. Option A

B. Option B
C. Option C
D. Option D

Correct Answer: D

QUESTION 5
Which one of the following options displays the value of a macro variable in the SAS log?
A. MACRO

B. SOURCE
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C. SOURCE2
D. SYMBOLGEN

Correct Answer: D
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